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S2 Hfi VI-2-%II#s 3-2 RO

MAX=577 cm/s? (26.03 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=394 cm/s? (25.69 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=677 cm/s® (8.54 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=466 cm/s*> (8.81 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=442 cm/s®> (8.64 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=465 cm/s? (8.1 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=247 cm/s® (8.08 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=485 cm/s* (16.03 s)
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S2 Hfi VI-2-%II#s 3-2 RO
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=334 cm/s?* (15.98 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=480 cm/s®> (7.52 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=252 cm/s?  (7.56 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=464 cm/s® (24.95 s)
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S2 Hfi VI-2-%II#s 3-2 RO

MAX=527 cm/s? (26.03 s)
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S2 fifi VI-2-%I%s 3-2 ROE

MAX=365 cm/s? (25.69 s)
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